6x 9=_____ b x 5=____ 3x 8=
8x = 32 3x = 2| L x = 20
Find half of these numhbers
L6 =___ 52=___ 72=___

Nearest 10 Nearest 100 Nearest 1000
6432
L654
Length
63run=__om ___ .mm
128mm = M ___ amum
3em Zmm = .mm
27 em 2. mm = ___ .mm
300em=__.m
673 cm = m cm
8m L4bem = om

Quick Start

6 x 3= b x 9= 3x 3=
8x =40 3x =18 b x = 16
Find half of these numbers
84 = 38=____ 52=__

Nearest 10 Nearest 100 Nearest 1000
8273
4729
Length
8dmmn =__ omn __ .mmn
342mm = __om ___ .mm
8&m 6mm = ____ .mm
L3em 8. mm = ___ .mm
800cm=__.m
364 cm = m _ cm
km 23cm = cm
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L8 = 58 = q2 =

Nearest 10 Nearest 100 Nearest 1000
8347
3679
Length
LSmm = ___ om ___ .mm
865mm = __cm ___ .mm
3em Smm = ___ .mm
56 cm lmm=__ .mm
700 ecm=___ .m
432 ecm = __m ____cm
12m 65cm = com

Quuick Start

2x 12 = 8 x 6= 3x 2=
8 x = 64 3 x = |5 b x = L4

2 = 78=____ 6 =
Nearest 10 Nearest 100 Nearest 1000

8347

36749

Length

8mm =__.m __ .mm

4L63mm = __ocm ___ .mm

6cm 9mm. = ___ .mm

75em 7.mm = ___ .mm

4OOem =__ m

75bem = __.m ___com

9dm 3cm = ____ com
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2x 8= 8x F 3x 6=____
8 x = 48 3x =6 Lx = 36
Find half of these numhers

= 58=____ 72=___

Nearest 10 Nearest 100 Nearest 1000

4754

6436
Length
Lémm = __cocm ___ .mm
394mm = __aocm ___ .mm
Jem 3mm = .mm
6becm 3mm=___ .mm
700 ecm=___ .m
57bem = __.m ____cm
I9m 75cm = com
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